
  

 

 

  

 

 

 

 

Exam Code: E_S4CPE_2405 
  

  Exam Name | SAP Certified Specialist - Implementation Consultant - SAP 

S/4HANA Cloud Private Edition  
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Question 1  

After integration requirements have been finalized, what is used to analyze, design, and document 

the integration strategy?  

A. SAP Cloud ALM Requirements app  

B. Integration and API List  

C. SAP Integration Solution Advisory Methodology  

D. SAP Business Accelerator Hub  

Answer C   

Question 2  

Which solution is designed to help customers understand their environmental, social, and 

governance (ESG) data?  

A. SAP Sustainability Control Tower  

B. SAP Green Token  

C. SAP Sustainability Footprint Management   

D. SAP Responsible Design and Production  

Answer A  

Question 3  

What is in scope of Fit-to-Standard workshops in a new implementation?  

Note: There are 2 correct answers to this question.  

A. Teaching the customer LOB experts how to navigate end-to-end business processes  

B. Estimating relative effort of the planned changes  

C. Completing the user acceptance testing on the business processes  

D. Providing feedback if changes are necessary to make the process fit the customer's 

needs  

Answer A D   

Question 4  

What is the purpose of the Business Driven Configuration Questionnaires (BDCQs)? Note: There are 

2 correct answers to this question.  

A. To gather configuration values to be entered in the SAP S/4HANA Cloud Private Edition 

system   

B. To decide about pace, support level, and update cycles for the system landscape   

C. To define enablement requirements for end users and business users  

D. To facilitate the connection between partner LOB configuration experts and customer LoB 

experts  

Answer A D  

  



  

 

 

  

  

Question 5  

What are some activities you can use the SAP S/4HANA Fully Activated Appliance for? Note: There 

are 3 correct answers to this question.  

A. To deliver Fit-to-Standard workshops in a system conversion scenario  

B. To transfer configurations to the productive landscape  

C. To test customizations prior to transporting to the quality system  

D. To deploy a preconfigured landscape for exploration  

E. To deliver Fit-to-Standard workshops in a new implementation scenario  

Answer D E C  

  
  


